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AS.0.100 PB.3

OEMA B
B1.

i X y
APXIKEX TIMEX 10 10
1" emavainym 1 15 11
2" gmovaAnym 2 30 14
3" emavainym 3 35 15
4N gmovaAinym 4 70 18
B2. x:=10;




while i <=4 do

begin
ifymod2=0
then
begin
X:=x+5;
y=y+tL
end
else
begin
X =x*2;
y =yt
end;
1:=1+1;
end;
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AwPagEredntég
péypt panrec > 0 ko pobntég <= 200

Av pofneeg <= 20
t61€ KOOTOG = pontég * 5
aAM®G
Av podntég <= 80
tOTE KOGTOG = pontéc * 4
aAADG KOOTOG = pontég * 3

Av xo6c10G > 160
t0t€
Apxn
éxmtowon = 5/100 * k6o10C
TEAMKO KOGTOG = KOGTOG — EKTTMOT)
Epedavice tehMio K6610¢, £KmTmon
TéNog
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Program thema4;
var
plithos: integer;
eponymo,eponymo_max: string;
B1,B2,B3,MO,max: real;
begin
max = -1;
plithos :=0;
readln (eponymo);
while eponymo <> “TEAOZX” do
begin
readln(B1,B2,B3);
MO = (B1+B2+B3)/3;

it MO >=7
then writeln(eponymo,MO);
else plithos := pilthos'+ 1;

if MO > max\thén
begin
max”:= MO;
eponymo_max := eponymo;
end;
readln (eponymo);
ends

writeln(eponymo_max);
writeln(plithos);

end.





